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2. @b+ b%c-b3-dPcE JAFEASHH?

@ (a+b)(a-b)(b+c) @ (a-b)(b-c)(c+a)
@ a-b)a+h)b-o) @ (a-b)(a+b)c-a)
® (a=b)(b+c)(c—a)

a?b + b%c - b® — a’c
=a’(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)
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@ (x-1)(x+1) @ (x-1)3
® (x+1)3
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=(x-1(x%*-1)
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@ a-b+c @ c—a ® b+c

a® — b2c — ab? + a?c = a® — ab?® + a?c - b%¢
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)
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@ (x-y)(x+y+1) @ (x+y
® (x-y)(x-y-1) @) (x+y
® (x+y)(x+y+1)

X 4+y2 4+ 2y —x—y
=@+’ -(x+y)=@E+y)r+y-1)
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@® %(k+1)(k+3)(k+4) ) %k(k+1)(k+2)
© %(k+1)(k+2)(k+3) @ %k(k+1)(k+2)(k+3)
® }l(k+1)(2k+1)(3k+2)

B
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T O 3x" —2x° —9x? 44, 3x%-3x% - 6x ©] F| -5 F5HH?

DO (x-1)(x-2) @ (x+1)(x+2) @(x+1)(x—2)
@ (x-1)(x-2) © (x+1)(x-1)

B

3xt —2x% —9x% +4
=(x+1)(x=-2)(x+1)(3x-2)
3x3-3x2—6x=3x(x-2) (x+1)
S EYEeRE L (x-2) (x+ 1)




10. 5 R4 2 4 1, 2 4 2% - 5x - 6 9] AFASE T2

D x @x—l—l @ x+2 @ x-1 ® x-2

Brl=x+1)2-x+1)
2 +2x%-5x-6=(x—-2)(x +1)(x+3)
oA Fdgob e x+ 1
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@2 @1 80 @ 1 ® 2

gt ol 1+io]B=,
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A+i)+(1-i)=-a
a=-2




12, oA 2 +ax? + x+ b7 2 —x+ 12 Yrojg@o]d uff, g — p 2]
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2x3 +ax®> +x+b
=(x2-x+1)(2x+¢)
=234+ (c=2)x +(2-¢)x+c
ca=c—-2,1=2-c¢, b=c
c=191B2 g=-1,b=1
Ta—-b=-2




13.

B +ax® +2x+b = (x> +x+1)0(x) + 2x + 1°] x°] thgt
AL o, a+ b G222

@ -2 @ -1 @0 @ 1 ® 2

Q(X) =x+c3}51 l:,—_T_Y_ @7]]6]—@ 7:"_}'\_% H]ﬂﬁ]—i‘j
a=0,b=0c=-1°B2a+b=0

B ~

B ta® +2x+bE ¥ 4+ x+ 12 AF HAlS s,

z+(a—1)
P+z+1) P+ar’+  2z+b
—-| 2+ 2+ z

(a—-1)2"+ z+b
—l(a=1)22+(a—1)z+(a—1)
(2-a)ztb—a+1

2—-a=2,b—-a+1=1
a=0,b=0
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D 1.2 @1.5 @ 1.8 @ 2.1 ® 24

f(x) :4x3—2x2—21x+4?5--'®

fx) =(x-r?(x-a)

= (2 -2rx+r?)(4x-a)

=4x3 — (@ + 8r)x? + (4r% + 2ra)x - r’a
O AsH2E st

a+8r=2---0Q), 4> +2ra=-21---©
QA a =2 -8r,

O°ll i dstd

4r* +2r(2 - 8r) = -21

12r2 —4r-21=0, (2r-3)(6r+7) =0

r:% (o r>0)




15. oA 2% +ax-8 5 x? +4x+ b= Uw UHA|7} 3x + 40]th. A
a, b®| gk& FSHH?

@a:—lo,b:3 @ a=10,b=3
® a=-10, b=-3 @ a=7,b=3
® a=-5b=4

B ~
HE x4 =0d

¥ +ax—8=(x>+4x+b)(x+c)+3x+4

oA A% ¢ ¢+ 4 =0 ¢ = -4

A bet+4=-8NA b=3

ARG AlG tde+b+3=a% M a=-10




f(x) =x*-4x>+ax+b
=(*+2)(x-0) & == Atk

X —ax?+2x-20=x3—4x> +ax+b

ca=4, a=2, b=-8

S 3a+b=-2




17. HnAge] A7 19 AATRA f(0) S 22 - 12 e el A7}
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D)-1 @ 0 ® 1 ® 2 ® -2

f(x)=(2=1)(x+a)+r (a rE4) s
fx)=x*+ax’-x—-a+r
L AR A -1
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® 25
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(x = 1)® + b(x = 1)2 + c¢(x - 1) + d
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Qojo] A4 xo

AR 1, o

@D 56

@ 28

thsto] 2x3-5x+2 = a(x+1)3+b(x+1)*+c(x+1)+d

b2 e - €] gk T
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B

32 +2x+1=a(x-1)2+b(x-1)+c
= (x—l){a(x—1)+b}+c

17 3 2 1
3 5
1] 3 5 6 <« ¢
3
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3+ 2x+1=a(x-1)2+b(x-1)+6
—3x2+2x-5=a(x—1)2+b(x-1)
- (x-1)(Bx+5)=a(x-1)2+b(x-1)
L oPAS x-1 2 L
3x+5=a(x-1)+b=ax—-a+b




21. xol I FSAP+2x%-3x+5 =a(x-1)*+b(x-1)*+c(x—1)+d
£ WHA71= a, b, ¢, d ° 5t abed O] F527?

O -10 @ 10 ® 50 @100 ® 200

a(x=13+b(x-1)2+c(x-1)+d

=(x-Dfa(x—1)2+b(x-1)+c}+d
=(x-1D[(x-Dia(x—1)+b}+c]+d
mabA 33 +2x2 -3x+5 S x -1 2 A&K0

AL 2 U o o+
U271 &MU d, ¢, b 7} 52 apx]ete] Fo] ¢ o]},

a=1,b=5¢c=4,d=5
.. abed = 100
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T3S —x+2=a(x-1)3+b(x-1)2+c(x-1)+d 7} x °]
F5 o] HES A% a, b, ¢, d 9| S ASH?

D®a=3b=T,c=-4,d=4
@a:3b:9,c:8,d=4
®a=2b=9,c=6,d=4
@ a=1b=3,c=8,d=4

®a=2b=-9,c=6,d=4
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(i)x-1=yE2EoH x=y4+10]22
3y+1)3-(+1)+2=a® +by?> +cy+d
L3+ +8y+d4=ay + by +cy+d
~a=3,b=9,c=8,d=4

(ii) x A -1, 0, 1, 2 = ThdsHH,
x=0HYd :2=-a+b-c+d---O®
x=-1HYd:0=-8a+4b-2c+d---@
x=19d:4=qd ------ ©)
x=20Y:24=a+b+tc+d @
@, @, ®, ®E A5t =4,
a=3,b=9,¢c=8,d=4
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ot 5 A T, a, b, o.d S Al T2

@3 -1,32 @23 -1.3
@ _37 1’ _39 -2 @ _2, _3, 1, -3
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B |

-1] 2 11 7
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¥ -3x-(k-1)=00°] AZE 7IA B2
D= (-3)2+4-1-(k-1)20
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7Hd off, Ao ko] el fe=?
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@k<5 ® 0<k<5

x—6x+2k-1=00] M2 thE = AZE 7hx 2
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